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.0 Lea'rningL?nks Which is heavier.... 2kg or 3000g? _

There are 6 bags of feed. Each animal needs a bag taking to their enclosure. You will need to estimate the
weight of each bag to work out which bag belongs where. Use the example bag which weighs 5kg, to help
you estimate the others.
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BuddyRary Problem Solving

SFarm

Can you solve the clues to work out which feed bag belongs with the correct animals?
Use the actual weights of the feed bags and read the clues below. Decide which bag belongs with each

Alpacas:

We have the second heaviest bag of feed.

Ducks

Our bag of feed weighs more than the tortoises but
less than the rabbits

Pigs

Our bag is the heaviest of them all.

Tortoises
We have the second lightest bag of feed.

Rabbits

Our feed bag weighs half the amount of the Pigs bag

Guinea Pigs
Our feed bag is the lightests of them all




Teacher Notes:
Maths (Entry 1&2) Estimating Weight

Example bag to weigh 5kg

A: 2kg
: 7kg
: 1kg
: 4kg
: 10kg
: 5kg
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Clues

A: Tortoises

B: Alpacas

C: Guinea Pigs
D: Ducks
E: Pigs
F: Rabbits



